	Answer: 12.61 ft.

1. Below is a schematic depiction of a waterslide. The slide is 28 ft. long. The ladder leading to the top of the slide is 25 ft. long. How far is it from the end of the slide to the foot of the ladder? Round your answer to hundredths.


                25 ft.                28 ft.



	1. Below is a schematic depiction of a waterslide. The slide is 28 ft. long. The ladder leading to the top of the slide is 25 ft. long. How far is it from the end of the slide to the foot of the ladder? Round your answer to hundredths.


                25 ft.                28 ft.





	Answer: 216

2. Joel and Carina are buying a house with an area of 2400 square feet. They want to re-carpet the entire house. How many square meters of carpet will they need to buy?


	2. Joel and Carina are buying a house with an area of 2400 square feet. They want to re-carpet the entire house. How many square meters of carpet will they need to buy?




	Answer: $11.50

3. An airport parking lot charges $3.50 for the first two hours of parking and $1.00 for each additional half hour or part thereof. If Sam parks his car for 6 hours, how much does he pay for parking?


	3. An airport parking lot charges $3.50 for the first two hours of parking and $1.00 for each additional half hour or part thereof. If Sam parks his car for 6 hours, how much does he pay for parking?




	Answer: 6.06 m

4. Syed, who is 1.85 m tall, wishes to find the height of a tree. He walks 21.21 m from the base of the tree along the shadow of the tree until his head is in a position where the tip of his shadow exactly overlaps the end of the tree top-s shadow. He is now 9.31 m from the end of the shadows. How tall is the tree? Round to the nearest hundredth. 


	4. Syed, who is 1.85 m tall, wishes to find the height of a tree. He walks 21.21 m from the base of the tree along the shadow of the tree until his head is in a position where the tip of his shadow exactly overlaps the end of the tree top-s shadow. He is now 9.31 m from the end of the shadows. How tall is the tree? Round to the nearest hundredth.



	Answer: 3.7 mi

5. Runners in a 6 km race run how many miles?


	5. Runners in a 6 km race run how many miles?




	Answer: yes. 16 mph

6. Would you be liable to get a traffic ticket traveling at 59 mph in a 70-kph speed zone? If so, by what amount in miles per hour would you have exceeded the limit? Round your result to the nearest mile per hour.


	6. Would you be liable to get a traffic ticket traveling at 59 mph in a 70-kph speed zone? If so, by what amount in miles per hour would you have exceeded the limit? Round your result to the nearest mile per hour.




	Answer: 31

7. Margaret is saving $21 every week so that she can have enough money to buy a bracelet she wants. The bracelet costs $632. What is the minimum number of weeks she will have to save to be able to buy the bracelet?


	7. Margaret is saving $21 every week so that she can have enough money to buy a bracelet she wants. The bracelet costs $632. What is the minimum number of weeks she will have to save to be able to buy the bracelet?




	Answer: Paul is taller.

8.  Paul is 2 meters tall and Raymond is 5 feet tall. Which man is taller?


	8.  Paul is 2 meters tall and Raymond is 5 feet tall. Which man is taller?




	Answer: $23.04

9. Glenda wants to glue glitter over a piece of felt shaped like a parallelogram with a height of 52 in. and a base of 58 in. If the glitter costs $1.10 per 
[image: image1.wmf]2

feet

, how much will it cost to cover the felt?


	9. Glenda wants to glue glitter over a piece of felt shaped like a parallelogram with a height of 52 in. and a base of 58 in. If the glitter costs $1.10 per 
[image: image2.wmf]2

feet

, how much will it cost to cover the felt?




	Answer: $2784.60

10. How much will it cost to carpet a rectangular room measuring 9 m by 13 m, if carpeting costs $23.80 per square meter?


	10. How much will it cost to carpet a rectangular room measuring 9 m by 13 m, if carpeting costs $23.80 per square meter?




	Answer: $19.46

11. The cost of gasoline is $1.39 per gallon. Jane’s car gives a mileage of 36 miles per gallon. Approximately how much did Jane pay for gasoline for a trip of 505 miles?

	11. The cost of gasoline is $1.39 per gallon. Jane’s car gives a mileage of 36 miles per gallon. Approximately how much did Jane pay for gasoline for a trip of 505 miles?




	Answer: $15.25

12. A telephone call from Texas, U.S.A. to Ontario, Canada costs $1.75 for the first minute and $0.50 for each additional minute. How much will a 28-minute call cost?

	12. A telephone call from Texas, U.S.A. to Ontario, Canada costs $1.75 for the first minute and $0.50 for each additional minute. How much will a 28-minute call cost?




	Answer: 339.1 
[image: image3.wmf]3
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13. A cylindrical container of paint is 6 cm across the top and about 12 cm high. How many cubic centimeters of paint can it hold?
	13. A cylindrical container of paint is 6 cm across the top and about 12 cm high. How many cubic centimeters of paint can it hold?

 

	Answer: 4.4 ft.

14. An electric pole 14 ft. high casts a shadow that is 2.8 ft long. What is the length of the shadow of a 22-ft pole?


	14. An electric pole 14 ft. high casts a shadow that is 2.8 ft long. What is the length of the shadow of a 22-ft pole?




	Answer: 4320

15. The recommended dosage of the drug ampicillin for pediatric patients is 200 mg per kilogram of the patient’s weight. How many mg of ampicillin should be given to a patient who weighs 48 pouds?


	15. The recommended dosage of the drug ampicillin for pediatric patients is 200 mg per kilogram of the patient’s weight. How many mg of ampicillin should be given to a patient who weighs 48 pounds?




	Answer: 2-foot square; $0.02

17. Jumps delivers only cheese pizzas. Their 15-inch round pizza is $14.99 and their new square 2-foot by 2-foot pizza is also $14.99. If $2.00 is taken off every order of the square pizza, which is the better buy? What is the price per square inch of the better buy? (Use 3.14 for 
[image: image4.wmf]p

.)


	17. Jumps delivers only cheese pizzas. Their 15-inch round pizza is $14.99 and their new square 2-foot by 2-foot pizza is also $14.99. If $2.00 is taken off every order of the square pizza, which is the better buy? What is the price per square inch of the better buy? (Use 3.14 for 
[image: image5.wmf]p

.)



	Answer: A (4 points)

16. Jill took five courses this semester, each for four credit hours. She received a B (3 points) a B+ (3.5 points), and A (4 points), and a B+ (3.5 points) in four of the courses. If her GPA is 3.6, what was her grade in the fifth course?


	16. Jill took five courses this semester, each for four credit hours. She received a B (3 points) a B+ (3.5 points), and A (4 points), and a B+ (3.5 points) in four of the courses. If her GPA is 3.6, what was her grade in the fifth course?




	Answer: 210 
[image: image6.wmf]3
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18. Three people build a rectangular building 7 m wide, 5 m long, and 6 m high. How many cubic meters does the shed contain?


	18. Three people build a rectangular building 7 m wide, 5 m long, and 6 m high. How many cubic meters does the shed contain?




	Answer: x=10

19. The two triangles below are similar. Find the missing lengths.

                 26                         x    5               13

                                                                12

                   24


	19. The two triangles below are similar. Find the missing lengths.

                 26                         x    5               13

                                                                12

                   24




	Answer: 1000

20. Fill in the missing value: 
[image: image7.wmf]33

1cm______mm

=



	20. Fill in the missing value: 
[image: image8.wmf]33

1cm______mm

=





	Answer: 54.7 cm

21. Fill in the missing value: 
[image: image9.wmf]547mm______cm

=



	21. Fill in the missing value: 
[image: image10.wmf]547mm______cm

=





	Answer: 100,000,000

22. Fill in the missing value: 
[image: image11.wmf]22

1km______dm

=



	22. Fill in the missing value: 
[image: image12.wmf]22

1km______dm

=





	Answer: 799 cm

23. Fill in the missing value: 
[image: image13.wmf]7.99m______cm

=



	23. Fill in the missing value: 
[image: image14.wmf]7.99m______cm

=





	Answer: 284.2 dm

24. Fill in the missing value: 
[image: image15.wmf]28.42m______dm

=



	24. Fill in the missing value: 
[image: image16.wmf]28.42m______dm

=





	Answer: 62,000 m

25. Fill in the missing value: 
[image: image17.wmf]62m______m

=



	25. Fill in the missing value: 
[image: image18.wmf]62m______m

=





	Answer: 290 mL

26. Fill in the missing value: 
[image: image19.wmf]0.29L______ml

=



	26. Fill in the missing value: 
[image: image20.wmf]0.29L______ml

=





	Answer: $122.40

27. Solve the problem, Use 
[image: image21.wmf]3.14

p

=

 when necessary. At $1.20 per 
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in

, how much will it cost to fill an aquarium with dimensions of 6 in x 5 in x 
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	27. Solve the problem, Use 
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p
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 when necessary. At $1.20 per 
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	Answer: 196.25 
[image: image27.wmf]3
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28. Solve the problem, Use 
[image: image28.wmf]3.14

p

=

 when necessary. A cylindrical jelly jar is 5 inches across the top and about 10 inches high. How many cubic inches of jelly could it hold (to the nearest hundredth)?
	28. Solve the problem, Use 
[image: image29.wmf]3.14

p

=

 when necessary. A cylindrical jelly jar is 5 inches across the top and about 10 inches high. How many cubic inches of jelly could it hold (to the nearest hundredth)?



	Answer: right, scalene

29. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.


	29. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.




	Answer: acute, equilateral

30. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.

	30. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.



	Answer: obtuse, scalene

31. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.
	31. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.




	Answer: acute, isosceles

32. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.
	32. Classify the triangle as acute, right, or obtuse and as equilateral, isosceles, or scalene.

	Answer: 
[image: image30.wmf]24657
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33. Use the properties of parallel lines to solve the problem: If 
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 and 
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, what are the measures of the other angles?
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	Answer:

33. Use the properties of parallel lines to solve the problem: If 
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 and 
[image: image35.wmf]857

m

Ð=°

, what are the measures of the other angles?
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	Answer: (4321 x 9) – 7 =38,882

34. Use inductive reasoning to predict the next line in the pattern.
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	34. Use inductive reasoning to predict the next line in the pattern.
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	Answer: 9999 x 9999 = 99,980,001

35. Use inductive reasoning to predict the next line in the pattern.
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	35. Use inductive reasoning to predict the next line in the pattern.


[image: image39.wmf]9981

99999801

999999998,001

´=

´=

´=





	Answer: trapezoid

36. Classify the polygon by name. If it is a quadrilateral, give its specific name.
	36. Classify the polygon by name. If it is a quadrilateral, give its specific name.



	Answer: 21 
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37. Find the area of the shaded region in this figure. Round results to the nearest unit. Use 
[image: image41.wmf]3.14
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                                            5 cm
	Answer: 
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37. Find the area of the shaded region in this figure. Round results to the nearest unit. Use 
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.

                                            5 cm

	Answer: -96

38. Use inductive reasoning to predict the next number in the sequence.

3, -6, 12, -24, 48
	38. Use inductive reasoning to predict the next number in the sequence.

3, -6, 12, -24, 48



	Answer: 38

39. Use inductive reasoning to predict the next number in the sequence.

3, 10, 17, 24, 31
	39. Use inductive reasoning to predict the next number in the sequence.

3, 10, 17, 24, 31
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